
Which is true? 

1. “Saccades are used to point the peripheral retina to the words in this sentence.” 

 

2. “You can see clearly while making a saccade from word to word.” 

 

3. “You can voluntarily control the speed of a saccade.” 

 

4. “Vergence eye movements cause double vision.” 

 

5. “Vergence eye movements rotate the two eyes at the same speed, in the same direction, 

and by the same amount.” 

 

6. “You can generate pursuit eye movements without a moving target.” 

 

7. “The vestibular ocular reflex responds quickly because it does not require a visual input.” 

 



Answer will be posted after April 26  

  



A patient of Dr. David Nicolle complains that when looking at the near tip of a screw 

driver just before placing it into the more distant head of a screw, the head of the screw 

disappears. What is the most likely cause of this patient’s deficit? 

a) The patient suffered from strabismus as a child. 

 

b) The patient suffers from strabismus. 

 

 

c) The patient has a lesion of the corpus callosum. 

 

d) The patient has a lesion of the optic chiasm. 

 

 

The patient is perfectly healthy but has placed the head of the screw in his blind spot. 



Answer will be posted after April 26  


